i iih b il




i iih b il




i iih b il




i iih b il

AR AT = |




i iih b il

1 s+ 433058 T 2
'_1‘

hl
ﬁﬁ(
cm:




i iih b il

[33><47—1551’ £ &_1551 T v oo




i iih b il

(33 x47= 15510 2 HE 1561 T2 o o [




i iih b il

|

(33 x47= 15510 2 HE 1561 T2 o o [

il
N 33

ARCR a2 UK S
]

-
1
}%‘b




i iih b il

[33><47—1551’ £ &_1551 T v oo

;{132 DI A —’QVJT\FL]%}E'\&J'_V{ ‘?]

33TH= 132 ) S g= 12433 = (3]




i iih b il

(33 x47= 15510 2 HE 1561 T2 o o [

— &

[ 3.3 AT fic— 132 » 10 A ffe— 132 = 3.3

H%’_\‘o

r /2



i iih b il




i iih b il




1% $H 333 ok
132 + 3.3

i iih b il




27 ihih b fR
FEART (<)

122+ F 3.3 %3 %
132 +3.3=40



122+ F 3.3 %3 %
132 +3.3=40

i iih b il




i iih b il

2 H e A F 1506 T 2T s <

35 PR | BB 1

\‘-L
yES



i iih b il

2 H e A F 1506 T 2T s <

35 PR | BB 1

\‘-L
yES



i iih b il

2 FH G 3 150.6 T 27 5 4

35 PR | BB 1

\‘-L
yES

14 R 33T o

150.6 +~ 3.3



i iih b il

12+ 5§ 33T3 0z
150.6 + 3.3=45.636---



i iih b il

F e 5 150. R
T BT ) B BETE B 2 f:‘: o

124 98335 o
150.6 + 3.3=45.636-++ = 45.64



i iih b il

Ea gt (-)
EFee ffF 1506 T 2w s A QLRI p T A
T PR T BRELTS B 2 1

124 983353 2
150.6 + 3.3=45.636- = 45.64

¥ 04 4 45.64 1



	投影片編號 1
	投影片編號 2
	投影片編號 3
	投影片編號 4
	投影片編號 5
	投影片編號 6
	投影片編號 7
	投影片編號 8
	投影片編號 9
	投影片編號 10
	投影片編號 11
	投影片編號 12
	投影片編號 13
	投影片編號 14
	投影片編號 15
	投影片編號 16
	投影片編號 17
	投影片編號 18
	投影片編號 19
	投影片編號 20
	投影片編號 21

